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Finn Fitness shown in the figure
below has an intrence to the the
locker room from both the exercise
room and the weight room. What is

the total area of the Finn Fitness?

7m
Exercise 6m
10m Room
Locker
Room
6
3m iy
Weight Room
1'
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eABL 3S5al Adlaay) daluall L

7m
. 6m
G ladll 4c @
10m
di
Saladl
3 m 6m
Ol A2 E
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100 m?

112 m?

96 m*
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7 m
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CJ\.!LJ 7
7 units

5.\:;" 18
18 units

saag 14
14 units




Use the graph below to find the area  uijaiall dud dalue slay slial JS&I paiiu
of the shaded trapezoid. ikl

Caul) La wust R
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O 64m?

O 49 m?

O 36 m?



“inn Fitness shown in the figure olis} JC&I) A prudagall diaal) ALY 3S5a (ggin

selow has an intrence to the the Culalll dsll (e AN dbE ) Jiae e
ocker room from both the exercise Ol Abg
-oom and the weight room. What is PABLAY 3S)al ddlaal) dalual L

the total area of the Finn Fithess?

7 m

7m
Exercise . 6m
6m Okl dcd
10 m Room 10m -
Locker ddg
Room Saadl
Weight Room Qs dbg

7 m 7 m
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JuasYl 3S)aill ol

The following table shows the g A Slelad) 2 JEN J o) ol gy

number of hours that a group of el La .Claal ) SLEAY CDUb ASgane

students studied for the mathematics bl Qi A Sl 5$5a00

test. Which measure of center best

represents the data?

Number of Hours Sleld) s
4 5(4(2|3|4 |1 4 4 5(4|2|3|4 (1|4

Gaal) La sl P



O

O (giaad) Jans il

O

O

Jlgial
The mode

The mean

$3al)

The range

Byagl
The median

7

{r“I
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Thar histogram showr in the figure eage ol JED d pdagad (ST £ et
below shows the weights of 8 group  ~Slsd se syl sl ik de e 4y
of students in kilograms. Find how gl 39 oy o o T pgliy) Ll
many students their weights wherne

less than or equal 39 kilograms.

Number ol |
Stidenis Ty

B B
7 7
6 B
5 L1
4 a4
3 3
2 2
1 l . l
1] [+]
Bo-34 3839 BO-34 353D 40-44 449 20-34 F5-39 dp-R4 1509 40-24 2849
weight (kg | (o) o0 |

AU el
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Use the graph below to find the area S)lpie dalica slagy slial JS&1) saa50
of the shaded parallelogram. Sl g3y
8m
10 m
I
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Each side length of the rectangle in Jebicaal) g3l (e ala S Jgh capia o5

the below i itiplied by 3, .
figure = mue y 3 Al b il e (3 ol Jeib
describe the change in the area.

6m




: ) JSAN dalica Cileual 9 L daloall
o SRS obpivaits
The area is 9 times the area of the original figure.

g JSAN dalica 2 A dalud
o >

The area is % times the area of the original figure.

gial) JSEY daliea Cilasl 3 (A dabiaall
The area is 3 times the area of the original figure.

O

) IS Aaliae i‘!l ialua)
O

, The area is % times the area of the original figure.
I
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The scores of 4 students are:
13,12,15, 16. Find the mean
absolute deviation of the data.

A - 2022-2021 - U Gwhyall Ll jLas! - Slwalyl - aladl gusbull Guall

13,12,15,16 : A Db 4 Sla
casill il i)y dagia aagl

il glnall olyxill buwgio
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D . Saclall Jabiuse jeudis
A rectangular prism sink is iy Sl Lbiae jgdia J€5 o og
10 cm long, 5 cm wide, and 3 ¢cm 3 emaiey 5cm dagy 10 cm b
deep. Auging O (S A sball )ik canaa)

Find the amount of water that can be

contained in the sink.
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n 025-130 c B

Find the volume of the triangular

prism shown in the figure below.

A - 2022-2021 - I wuslyill Luadll Lis! - Slual Pl - pladl guslull caall
' wﬂi‘ll Jy.i.l.l.a" s

JSAN b qiagall U jpdiall pas 2
.ol

10 ecm

3cm

4 cm
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. panl) saall
Find the range of the values ol Sl 3 Aal) adll saal) 2a
represented in the figure below.
< - >
4 5 6 7 8 9 101112 13 14
@ 7 :

.........................................................................................................................................................................................
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The scores of 5 students in the final g LAY A S 5 Slap
exam are: 85,70, 80, 50,90, il Jagas glt 14l .85,70,80,50,90

find the median of the data.

O 85 a
O 825
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| |
below has an intrence to the the
locker room from both the exercise

room and the weight room. What is
the total area of the Finn Fitness?

)

10m

7m
Exercise 6m
Room
Locker
Room
3m
Weight Room
l

7m

6m
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The following line plot of data shows
the ages of a group of university

students. Find the mode of the data.

D
¢
]
°
25
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LSl Jlgiall dagl daslall Ltk (e 42 gara
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The following table shows the
number of CDs a group of friends
bought. Find the mean number of

CDs the group bought.

Number of CDs Purchased
4[6 s |23

A - 2022-2021 - S byl Juadll jLis! - Slual i - sladl gusludl ciuall

. @xodall ol bl busgiall

o daarall el 2 SN J gt g
Bgial caaal . glhod) e Ao gana g3 280
e garall 13 D daasadl el al

Wi o5 3 daasall ol 2

4

6

5

2

3
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Use the coordinates of the rectangle slial Jei) .:,j Jebaaall Slllas) aadlil
in the figure below to find the sum of el g3l Jighl gyana slay

the rectangle sides.
y
|

5
A B
4 ? ’
3
2
D C
1.
X
ol 1 2 3 4 5 6 7

E suag 14 ?
@ i
: 14 units
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